Figure 1 - figure supplement 5

-1.0

-1.54

-2.04

-2.5

-3.0

Log(l) (AU)

-3.54

4.0

-4.5

zero-extrapolated SAXS profile

SPN-ARR not split

+ Input data WT
— CORAL Fit
¥ =375

-1.54

-2.04

0
o
L

-3.01

Log(l) (AU)

-3.5

-4.0

-4.5-

SPN-ARR not split .

Input data R12C

— CORAL Fit
¥ =365

zero-extrapolated SAXS profile

0

1 2 3
s (nm™)

4 5 6 0

1 2 3
s (nm™)

4 5 6

-1.5

-2.0

-2.5

-3.0+

Log(l) (AU)

-3.5

-4.0

-4.5

-5.0

zero-extrapolated SAXS profile

¢ Input data WT
= CORAL Fit
1=3.29

-1.54

-2.04

-2.54

-3.04

Log(l) (AU)

-3.5

-4.0

4.5

« Input data R12C
— CORAL Fit
x’=3.47

zero-extrapolated SAXS profile

0

1 2 3
s (nm™)

1 2 3
s (nm™)

Log(l) (AU)

Log(l) (AU)

-1.54

-2.01

o o
T L

-3.5

-4.01

4.5

[SPN-ARR not split

* Input data L68P
— CORAL Fit
¥=279

zero-extrapolated

SAXS profile
T

T T

1 2

3
s (nm"

.
4 5

)

-1.5

-2.0

-2.5

-3.0

-3.51

-4.04

-4.54

« Input data L68P
— CORAL Fit
x*=2.07

zero-extrapolated SAXS profile

1 2

3
s (nm™)




